
 

SAMPLE PAPER  
PERIODIC TEST – I      SESSION 2024 – 25 

             CLASS – III 

TIME : 2 HRS                         SUBJECT : MATHEMATICS                           M.M:40 

 
SECTION – A 

 
1. Choose the correct option in the following questions.                                                 (4x1=4) 

(a) The standard form of 6000+400+0+0 is ________. 

(i) 6040               (ii) 6400                    (iii) 640 

            (b) The greatest four digits number is _______. 

         (i) 4444                     (ii) 1000                                        (iii) 9999 

            (c) 146 + 154 + 125 = ______ +125 + 146  

                  (i) 146                                                        (ii) 154                                          (iii) 100 

            (d) The tens digit in 4036 is ________. 

                  (i) 3                             (ii) 4                                               (iii) 0 

      2.   Fill in the blanks.                                                                                                              (4x1=4) 

(a) 123 is between 120 and 130 but is closer to __________. 

(b)  The expanded form of 6484 is __________. 

(c) 8794 + 0 = _____. 

(d) The sum of 614 and 314 is 928. True/ False 

 
SECTION – B 

 
3. Write the numerals of the following.                                                                               (2x2=4) 

(a) three thousand two hundred forty– five 

(b) six thousand eight. 

4. Write the numbers in words.                                                                                            (2x2=4) 

(a) 7308  

(b) 1532 

 



5. Circle the smallest and underline the greatest number in each set of numbers.       (2x2=4)    

(a) 3205,  4289,  3526,   3010 

(b) 658,    2168,  6345,   1265 

 

                                                                        SECTION – C  
 

6. Round off the number to the nearest 10.                                                                            (1x3=3) 

(a)  481                         

7. Find the sum by expanding both the numbers.                                                                   (1x3=3) 

(a) 14 + 41 = 

8. Find the missing numbers.                                                                                                 (1X3=3) 

(a)       H     T     O 
      4     6      5 
+    _     2      3 
____________ 
     6        _      _   
____________ 
 

9. Find the value of 325 more than 481.                                                                              (1x3=3) 

SECTION –D 

10. Arrange the following numbers in ascending and descending orders.                     (1x4=4) 

773, 7880, 9573, 2860 

11. Without actual addition, state whether the sum is odd or even.                                 (1x4=4) 

321 + 338 

 
 

 
 
 
 
 
 


